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—. (20%).For the amplifier shown in Fig.1 , assuming all operational amplifiers are ideal(32 48) ,
please find

(a) (10%)Differential gain A, = —¢ =9

Vi = Vg

(b) (5%)Common-Mode gain 4, = Yo (Fvy=vg=v,)
Vfcm

(¢) (5%)Common-Mode Rejection Ratio CMRR=?
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=. 20%)K 5474 B 3 A~ MOSFET Common-Source amplifier high frequency equivalent

circuit, €40 Rsig=100kQ), Ri=400k(, R, = 4kQ ,gm=5mA/V, Cgs=1pF, Cgd=1pF. = & F 5| I
L

(a) #& Common-Source amplifier 2 ¥ #83¥% 3 (mid-band-gain) AM=Vo/Vsig=? (10%)
|

(b) #] A open circuit time constant method 5Kt Common-Source amplifier Z upper -3dB
frequency fu="? (10%)
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W, BemMmrIBABESL  BRAANER v DCRSABE - AT BITE L2 ELR
=90, Igas = 200pA, Ri=500 Q, Re=10 kQ, Rg= 140Q, B Rs=10kQ «
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3.5 EREEBABER LB SHT  METEME A= vou/ vin B
(A)-10V/V  B)-5V/V  (C)-25V/V (D)-15V/V
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